Q:3

Q:4

Which one of the following is a Basic feature of the
Presidential Government?

frifed # @ 19 UH H&THS UARIT YU BT SMYRA
o ©-
Rigid Constitution / Sf3YT P HSIRdT
Single Executive / Tdhdl CAULIRED]
Supremacy of the Legislature / HARITIURT Bt Jar=dl ;
Residual Powers of the States / 3@y ifeR Il & U9 g1

Which of the following is correct?
The main feature of a Presidential form of Government
is/are-

Fufafad & 9 S19-a1 98 22
TS AT YUl Bt A= &/ 8-
The Head of the Executive is the President.

STISINUN ST YH@ AFUfd il 2|

The President appoints his Council of Ministers.
yufa 3 d@Ruiug ®1 99 @9 ol 6|

The President cannot dissolve the Legislature.
YUt HARITUDT BT T 81 B AHal 5|

All of the above./ HUR afofd Tt a2 Tl B

The Democracy of India is based on the fact that-
YRA H YT §9 9 R TR & -

The Constitution is written

wfae fafea g1

Fundamental rights have been provided

ggi Hifere SifieR weH fvg e 2
Public enjoys the rights to choose and change the Government
WAl ) TRBRI B A4 9T g BT AfUSR U gl
Directive principles of state policy have been provided here
g8 Ig & Hifd e a @ 8|
Which one of the following determines that Indian
Constitution is Federal?

Fafafaa 7 3 fFa fRfRuiRa gar 8 f yRa &1 dfaea=
i g2



a) Written and non-flexible Constitution

dfayr= fof@d ek s g1
b) Free Judiciary/ <aTaUTferehT ¥ g

c¢) Residuary powers are vested in centre/union

3rafRry wfeTal 1 $g A Fifed g
d) Distribution of powers between union and states
g 3R Treal & g faaal &1 faazor
Q:5 Indian Constitution is-
YRR Hiae 1 82
a) Rigid/ PR
b) Flexible / e

c) Neither rigid nor flexible / 9 81 ®3IR 7 g @lan
d) Partly rigid and partly flexible / 32Id: HSIX 33 3A2Ad: Tl

Q:6 Which one of the following points differentiates the Indian
Parliamentary system and British Parliamentary System?

HRA I JHGHT I YUITelt T foe &t Sdra =T yorredt
# iR @1 foig Fafafea 7 9 «1 g2

a) Collective Responsibility / STfe® STREIUE

b) Judicial Review / <OTiI® JHI&T

c) Bicameral Legislature / fg-geaTd® awrTiu®T

d) Real and nominal Executive / I&ifde® T4 ATHHTT $I STAUTTHT

Q:7 Consider the following statements and select the correct
answer from the code given at the end:

Assertion(A) :

The Constitution of India provides for a federal system.
Reason(R):

It has created a very strong center.

g Fy=1 W R ST v o A fiT T o | 9el SR &1 Tu

HYF (A) :



YRd & SAUE A v Hellg Yumell &1 gy gl
PRI (R) :
I TP Tgd W=t g &I 391 i 5

a) Both (A) and (R) are true and R is correct explanation of A.
I (A) 3R (R) WEl &, AT (R), (A) T Hel TEIH0T ¢ |

b) Both (A) and (R) are true. but R is not the correct explanation of A.
QT (A) 3R (R) W81 &, 9T (R), (A) BT H6! TBIH 781 8|

c) (A)is true (R) is false. / (A) gl & UR (R) Tad &

d) (A)is false (R) is true. / (A) 7Ted @ TR (R) gl &

Q:8  Which of the following is not a federal feature of the Indian
Constitution?
o & @ 19 T YRA & WAy 1w qaor T8 @2

a) Distribution of power between Centre and States

&5 YT ISl P S DRI BT SCaRT

b) Entirely written Constitution
guf w1 3§ ferfaa dfaum

c) Single Citizenship
Tdhgl ANTI Gl

d) Independent Judiciary

a7 YTt Aafafad

Q:9 Which of the following is a unitary element in Indian Federal
System?
Decentralization of Powers
Appointment of Governors
Unequal representation in Rajya Sabha
Judicial Review
All India Services
Bicameral legislature

T8 ¥ BIH-9T HRAIY T HaRIT § THTHD dd 82
Tifaaal &1 fadsieor

IrsquTel $i fAgfa

T FHT H AT ylafAfiua

e [Hidaie



Af YR Aame

fgaeTHe srawuTfu®T
codes:
a) i,iii,vi
b) ii,iii,v
c) iii,v,vi
d) ii,iv,v

e) none of the above

Q :10 Which of the following statements about the federal system

in India are correct?

The Constitution introduces a federal system as the basic structure

of Government.

There is a strong admixture of a unitary bias.

Both the Union and State Legislatures are sovereign.

The legislative, financial and judicial powers have beendivided

between the Union and its units.

Select the correct answer from the codes given below:

YR § WY1 aaRIT A J&fd 9 U1 A F 319 91 981 82

gﬁmmaﬂwm%mwmwﬁmm
I

UHTHD FHTd DT SHH TG 07 3|

S TY YT 3o ARt yyarEud 8|

fauReta, =i 9yt =nRe Afeaar I 991 39! sH15al $ A

faurfora s & 18 81

SHIsyl b ALy fAHTRE H3 &t 8 21

+d feT 1T Fei | Hel SR &1 a9 Do ;

Code: / Pc:

a) 1 only / Had 1

b) 1 and 2 only/ $Td 1 TUT 2

c) 1,2 and 3 only /&dd 1, 2 9T 3

d) all the four/ I} TRI

Q : 11 Assertion (A): President of India is elected indirectly.
Reason (R): Parliamentary system in India has been combined with
Republicanism.



YA (A) : WRd BT APUfd RIgra: Faffd giar g1
PRI (R) : R H GACH YU H MUTaIE & 91U SISl 147 2|
Code:
a) Bot!\ (A) and (R) are true and (R) is the correct explanation of (A).
Gl (A) 3R (R) 9 & GYT (R), (A) T TH AT WPIHI0T 3
b) Both (A) and (R) are true but (R) is not the correct explanation of
(A).
31 (A) 9T (R) I §, U (R),(A) DT TP HI-G WHIH0T =gl 2|
c) (A) is true but (R) is false. /(A) T8l 8, T¥d (R) 7T9d &1
d) (A) is false but (R) is true./ (A) 71@d 8, T3q (R) Jal |

Q:12 Here are two statements:

TR Gl qeaa e T B :

Assertion (A): Political Parties are life-blood of democracy.
Reason (R): Normally people blame political parties for bad
governance.

Which of the following is correct in above contexi-

YA (A) : TSP S Abdd P Silad-3ad ¢ |

PRI (R) : TRT WIS ATHA P o8 HHC: AS-ITdP ol Pl drad 2 |

SHFE F e AU A I s Ta udi g 2

a) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(A) 31X (R) I HEl © 9T (R) Het BB 8 (AT

b) Both (A) and (R) are true, but (R) is not a correct explanation of

(A).

(A) 3R (R) ST Wt § fog (R) 96! BT 181 8 (A) P11
¢) (A) is true, but (R) is wrong. /(c) (A) T&! & fg (R) Tad &1
d) (A) and (R) both are wrong./ (A) 7Tad & f&d (R) 98! 81

Q : 13 Assertion (A) : Federalism is not practical in India.
Reason (R): India is not a Federal State.

Select the correct answer from the code given below:
Code:

HYF (A) : HRd | Huarfedr sadgIive gl g
HRUT (R) : R TP HY 3T a1 g

2 fou T ge | W IR gAY

Pc:

a) Both (A) and (R) are true, and (R) is the correct explanation of (A).



A 9UT R 3191 HEl € 9UT R,A 1 T&l e 21

b) Both (A) and (R) are true, but (R) is not a correct explanation of
(A).

A TYT R SIFI 98l § W R, A 31 J&! oaRan a1 8|

c) (A) is true, but (R) is false. /A Hgl 8 Ug R 7ad ¢

d) (A) is false, but (R) is true./ A 7Tdd 8 Uq R &l B

Q : 14 Assertion (A):The primary objective of India's federal design
was to weave a nation out of its many diverse parts and protect
national integration.

Reason (R):Accommodation of diversities has built a stronger, not
weaker, Indian nationhood.

Code:

FHYF(A) : TR DI HUTD GIGT DT Y& 5,39 3! 9g-ATaTHL
fafaerane # @ wes w1y o1 fFafor w1 ok WPt voar o wRfda
HIAT UTI

PR (R): f[Afuarel & Hw= 9 v I=1ad, 7 5 FAER YR
Igtaar ®1 fAfor gar g

a) (A) is false, but (R) is true. /(A) TTcld %, R (R) 99 %I

b) Both (A) and (R) are individually true and (R) is the correct
explanation of (A).

(A) 3R (R) ST 3109 3T A I § 3R (R). (A) B! gt AR g

c) Both (A) and (R) are individually true, but (R) is not the correct
explanation of (A).

(A) 31 (R) SFY 3r99 3y # I § Afp (R), (A) Pt Tt URST 81 8
d) (A) is true, but (R) is false./ (A) ¥ &, WX (R) 7T&d g

Q : 15 Assertion (A) : Women, Dalits, Poor and Minority groups are
the biggest stakeholders of Democracy in India.

Reason (R): Democracy in India has emerged as the carrier for the
desire of Self Respect.

Code:

HY (A) : AfeaTE, fera, feH Td sreudiers gHg YRd A diedd &
WY 99 GAQR g |

EETTUT%R) - HIRd H Aiodd At ATH-THTH B BTHAT BT IT6H IIHT
SHI B



a) Both (A) and (R) are true and (R) is the correct explanation of (A).
gl (A) IR (R) T & TUT (R), (A) BT TS A TPIHI0T 3 |

b) Both (A) and (R) are true but (R) is not the correct explanation of
(A).

gl (A) 99T (R) T §, T (R), (A) BT P A1 TBIH0I -6l ¢

c) (A) is true but (R) is false. /(A) 98l 8, W (R) 7TIad g1

d) (A) is false but (R) is true./ (A) TTdd %, W (R) ol %I

Q :16 The reason for the Indian Constitution being the bulkiest is
that:
HR AU & 984 811 & SR 5-
a) itincorporates the experience of many Constitutions
s9H 3q® Tfaur=l & gy JHIAY &l
b) it contains detailed administrative provisions.
9 fawga URmIS g yrau= B |
c) it deals with the Government of a large country.

g8 U 98 o¥ & U9 & &t 2

d) it contains the Constitution of both Union and State
Governments.

g Y TUT I PRI BT JAY B

Q : 17 Assertion (A) : Indian Constitution is quasi-federal.
Reason (R): Indian Constitution is neither federal nor unitary.
Select the correct answer using the codes given below:

BRI A) : HRATT JfAUTT 3k TITHSP 3

HRUT (R) : RO TfALTH 7 O FUTHP & 3N 7 8t ThTHS !

Hal IR &1 T4 A AT 7T Fe 3t Feradar d ifo:

Pc:

a) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(A) 9T (R) SIFI T8I & IUT (R), (A) PI TSI SRS B

b) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(A) T (R) ST 61 & W (R), (A) B! Hel SURST e

c) (A) is true, but (R) is false. /(A) W&l &, T¥d (R) Ted @ |

d) (A) is false, but (R) is true./ (A) T&d &, U¥d (R) T8l 8



: 18 Who called Indian Federalism as the Cooperative

Federalism.
YR TUdIE &1 GgPprRI Juare feaa #g1 82
G. Austin / STt 3R
K.C. Wheare / &.4t. §IUR
Sir lvor Jennings / ¥X 3Tgd? EIE
D.D. Basu / 31.81. 99

:19 Who said : "India is a quasi-federal state"?

fraa ®e1 U1 : "HRA 3 YT I5T 82"
Harold Laski / g31¢S @R
Ivor Jennings / 3TgdX S
Lord Bryee | TS CIER]
K.C. Wheare / &.4. %ﬁ

: 20 In relation to Indian Constitution who said that "Indian

Constitution establishes good balance between Rigidity and
Flexibility."
YRag SiayE & fawg # fafafaa u= e A 3 e g2
"YRAIT GAU 3Mf® FIR auT s ddid & 7% Th
DT T RITUT BT gl”

B.R. Ambedkar / §t.3R. dE®HT

M.P. Payli / TH.4t. Urg@t

Alexandrovics /

K.C. Wheare / . 3}. ®RR

: 21  Who of the following has stated that The Constitution has

not been set in a tight mould of Federalism'?
frrgifed # 3 59 v &1 Fy= § % ' dfdu= &) guarded &
& e H T8l <1 T 82

D.D. Basu / 81.81. 99

K.M. Munshi / &.99. G=it

B.R. Ambedkar / . 3[R, 3FES D
K.S. Aiyer / T.%. 3[R



Q:22 Which one of the following is incorrect about the Indian
Political System?

YRR IeHIdd UG P aR A A A s gl 181 8 2
a) Secular State / YA RUE I
b) Parliamentary System of the Government

TSI USfd B PR
c) Federal Policy / THIg Hifd

d) Presidential System of the Government

YU UK Bt TWPR

Q : 23 Which one of the following is not true in relation to
democratic determination.
MU SURYT ¥ Hafte fFHifba A P ua 8l 8 2
a) A state in which people are supreme
TS I Forad oiar 9dare
b) Supreme power is vested in elected head

Hare wfad FrafRa yu=a & AT @)

c) Supreme power is vested in a person (solely) likewise a king

HdTe Wi T TSI & ATHH (U oY) safea § fAfga &

d) A government formed by representative elected by people

TS O WWeR W =41 gR1 fAatfe ufafAfiay @1 gt

Q :24 Consider the following statements:

A Constitutional Government is one which Places effective
restrictions on individual liberty in the interest of the state Authority
Places effective restrictions on the Authority of the State in the
interest of individual liberty

Which of the statements given above is are correct?

fFafafeaa ®y= R AR sife

HAUTP TRPRTE T :

;ﬁmaﬁw%ﬁmﬁ'wﬁaaﬁmwmuﬁﬁum
|

STt iRy BT TaaAdl & fed H 39 1 JOT IR YHTTHRI Ufaay et

gl
Suded FY=I # ¥ -1 TS 2R 2
a)1 only/ﬁ?ﬁ

b) 2 only/ Had 2



c) Both I and 2 /1 3R 2 1
d) neither 1 nor 2/l 1 3ﬁ??€f2

Q : 25 India's National Animal is-

YR BT Uyl &-
a) Deer / fgvur T
b) Elephant / L
c) Tiger / dlY
d) Lion / 2

Q :26 Which is the National Flower of India?
HRd BT AT T DI AT § 2
a) Sunflower / W‘ﬁ@

b) Lotus / #HA

c) Rose / [dlld
d) Marigold / TiaT

Q : 27 National Bird of India is-

HIRd BT uelt @ -

a) Cuckoo /aﬁ':l?r@u

b) Swan/gd

c) Peacock/ "R

d) Pigeon/®qd

Q:28 What does the wheel on the Indian National Flag'
symbolized?
HRA AP o’ | T [HasT vdie 82

a) Freedom / Sd=dl &I

b) Justice /< &I

c) Equality / HHIACT DI

d) Brotherhood/ 'H'I'sf R Pl

Q :29 The total number of spokes in the National Flag of India is-
HRA & TP 91 § SR B $o GS 5

a) 20

b) 24



26
30

: 30 A complete or formal rendition of national anthem takes-

¥yt I I PT ATGH (FITEH) HIeA B-
50 seconds / 50
45 seconds / 45 JHS
52 seconds / 52 T$ S
55 seconds / 55 &g

: 31 Indian Parliament has the power to create a new State under

which of the following Constitutional provisions?
wfaer & fFryiferd & 9 frg yreu™ & siarfa YRdAT 996 &t
T 3159 §91 BT fUPR 82

Article 1 /Sﬂ@'&' 1

Article 2/ 3G 2

Article 3 /3¢ 3

Article 4/ TG 4

: 32 The power to carve out a new State is vested in -

9T YS9 & S (carve out) Bt Xifed g @ -
The Parliament / §9¢ #
The President / Trguﬁ |
The Council of Ministers / Afufug &
States' Reorganisation Commission / I5d Y6 TR &

: 33  Which one of the following is empowered to alter the

boundaries of States under the Constitution of India?
YRT & AfaU™ & Siaiid fRafaiad 3 3 feas! Isai i
Haren o1 ufvafda #31 ot i ura 82

Parliament / T9¢ &1

Lok Sabha / @I® JHT Pl

President / ‘\'TQ'QﬁT E3|

Supreme Court / Tdi= ATy B



Q:34 Who among the following has the executive power to admit
a State in the Union or establish new States ?

US T B T | JFAfrd B4 31Yar ¢ ISl ST RITYAT
P o driufaer wfed Aufafead 7 9 f5a e 82
a) Parliament ”9¢ &1
b) Lok Sabha/ @I THT &I

c) Political Parties RTSIHITI® Gl DI
d) Central Govemment/ g PR DI

Q :35 According to Article 1 of Indian Constitution, India is-
AT & UUH IFT P ATAR HRd 6

a) Group of States RIS} BT qHHe

b) Federation of States/ Il BT BSINH

c) Confederation of States RISl T PSR

d) Confederation of states/ TSl T gfa



